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Please check that this question paper contains 11 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Flease check that this question paper contains 30 questions.

Please write down the Serial Number of the question before
attempting it.

15 minutes time has been allotted to read this question paper. The question
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Answers to questions carrying 1 mark may be from one word to one
sentence.

Answers to questions carrying 3 marks may be from 50 - 75 words.
Answers to questions carrying 4 - 8§ marks may be about 150 words.
Answers to questions carrying 6 marks may be about 200 words.

Attempt all parts of a question together.

Fr w1 YT ° A AT 8 2 1
What is meant by ‘Management of Work™ ?

‘Tg-sree’ g @ FeifE R s g 2 i
What is determined by ‘Time-Study” ?

=aE™ = ‘faftss =g 4 w0 gimfag g 2 ? Ioog Hif | 1

What is included in ‘Legal Environment’ of Business ? State.

51 & Tk Wbl o &9 § ‘fafe’ =1 ared difso 1

(Give the meaning of ‘Method’ as a type of plan.

STYERT 37701 & Ueh ovd o &9 H ‘Iaieided’ o1 319 i | 1

(ive the meaning of ‘Responsibility” as an element of delegation.
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Define ‘organizing’ as a function of management.

T ST Wdl o dileR Eidl o1 IUAN Fld B dl RHENl fRE W 39d
fores § gur & o srfiufa g € 2 Ieomg <hif |

How are employees motivated to improve their performance when the
organization uses internal sources of recruitment ? State.

FHEIfEl 1 HeA wd GEITR e YeH HE WHE BHIGH YSY gl
fearfea <61 9 arell fafore GRaneti 0 © % 8 | 999 39 96999 i 39 g1
fafire foramd sam |

‘Providing for social security and welfare of employees’ 1s one of the
specialised activities performed by Human Resource Management.
Mention any two other specialised activities of Human Resource
Management.

HrYYY] o Ush avd o &9 4 Tashiegd’ (Tfe=wifen) =1 @0 319 8 2

What is meant by ‘Decoding’ as an element of communiecation ?

“‘Grraareqss ardreer i vt w1 @ favmand sdEe St safwal k smaEr @)
guiferd st 8 o v sifaia Ticared o &9 H % w2 |

(zive any two characteristics of ‘Organizational Climate’ that influence
the behaviour of individuals and act as a non-finaneial incentive.

“foreita siifiam’ | s srfioma 2 2

What is meant by ‘Financial Risk’?

“feref a9’ & 3I£99 &1 Iowi@ hifau |

State the objective of ‘Financial Management’.
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(i)  ITYh ATEHAISAT & dE AH el gAT I ¢ EvIHarsl ol
TAgEe S 34 enft oft dgE w9 R

Huma is working in a company on a permanent basis. As per the job
agreement she had to work for 8 hours a day and was free to work
overtime. Huma worked overtime, due to which she fell ill and had to
take leave from her work. No one showed concern and enquired about her
health. She realised that she was fulfilling only some of her needs while
some other needs still remained to be fulfilled.

(1) By quoting the lines from the above para, identify the needs of
Huma which she is able to fulfil.

(i1)  Also explain two other needs of Huma followed by the above needs,
which still remained to be satisfied.

Ush YAdersh gl 9v9d fohu S arel v foRedl 9 il o1 gwemse o foet
WA & o Afq-2ava++ & |

Explain any three functions performed by a supervisor that are vital to
any organization.

‘Wi vEEEs Had fdw gfg # & s dmem TE g, sifug v wma @
& T AT 2 || vH TRl o i ot geEEy |

‘Stock Exchange not only contributes to the economic growth, but
performs many other functions.” Explain any three such functions,
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T8l feran wrifer TUrer & F0 wHiE shehd fafies % IcamEl W w@lieT geE
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(31) 3See-amadt 3@ mewql Fofr @t geeife e swemse fSees @
JUIRISAT 9 uetE shepd feafirds & 3cae =t affaar & |

(@) ud frdl 2 gedl &l ot ggene e ue sheed foifues wam o
arifyd e =Edl 2 | 3

ABC Crackers Ltd., a fire-cracker manufacturing company launched
some new products on the eve of Diwalil in the market, which attracted
many buyers. To meet the increased demand the company employed
people from nearby villages where there is a lot of unemployment.
Because of the good behaviour of the management with the employees,
more and more people wanted to join the company. As the products were
in great demand in the market, a competitor imitated the products. The
products of the competitor were not accepted by the consumers as it was
a status symbol to buy the products of ABC Crackers Ltd. because of
their quality.

(a) Identify and explain the product-related decision because of which

consumers preferred the products of ABC Crackers Ltd.

(b)  Also identify any two values which ABC Crackers Ltd. wanted to
communicate to the society.

17.  399RT e 3ffafam, 1986 = 37=id JUNIHT i 39cey gl ©: Tadl =
Jooi@ hifsu | 3

State any six reliefs available to a consumer under the Consumer
Protection Act, 1986.
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(i)
(1)

Iure foren = srfaesn
T 1 HAUER

Fxplain the following Rights of Consumers :

(i)
(i1)

Right to Consumer Education

Right to Choose

T fAfres afer-ged &1 Ao == @ oft | oo g 35 HeTed & 99 99
T i 319 Shae gEehl @Al I § & fow warg ot | o = se
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Mega Ltd. was manufacturing water-heaters. In the first year of its
operations, the revenue earned by the company was just sufficient to
meet its costs. To increase the revenue, the company analysed the
reasons of less revenues. After analysis the company decided

(1)

(ii)

(a)

(b)

to reduce the labour cost by shifting the manufacturing unit to a
backward area where labour was available at a very low rate.

to start manufacturing solar water-heaters and reduce the
production of electric water-heaters slowly.

This will not only help in covering the risks, but also help in
meeting other objectives too.

Identify and explain the objectives of management discussed
above.

State any two values which the company wanted to communicate
to the society.
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STEETRE qEEr it SEUR 997 35kt Tl i fasiwarst i guzme | 4

Explain the concept of ‘Business Environment’ and any three features of
it.

Tl < =R |idl o sl I oYl R IeoiE it | 4

State any four advantages of external sources of recruitment.

o yamy & ‘Faw’ g ‘fad=a’ FuEl &1 @939 e | 4

Give the meaning of ‘Investment’ and ‘Financing® decisions of financial
management.

frarsm & fordl o= fasigarsti =1 Seo@ s |

State any five features of planning.

-

ot A’ 3tk ‘gzt a4 Fefafaa anaw w s fifsw 5
(i) =™

() oA

(i) g

(iv)  aruférd wfawa
(v) erafy

Differentiate between ‘Capital Market’ and ‘Money Market’ on the basis
of the following :

(1) Meaning

(1)  Ligquidity

(111) Safety

(iv)  Expected Return

(v) Duration

7 P.T.O.
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What is meant by ‘Personal Selling’ 7 Explain any three qualities of a
good salesman.

2o U9 WAl & THg-d WER [ 2 | U I Hd 7 o U9 @l FHIE &
|q1Y SAHI 1 dean] HA1 =i, FafE g F gHd 2 F wdEia w5 afagfd
Feo1 1 ITEE amar WA B =R qen 98 3 v Sfied @ veE e
et BT =R |

I Feae 4 Ifcafad Hae ud Ter & fagri = ygenfiu ug auEEn |

Principles of Taylor and Fayol are mutually complementary. One
believed that the management should share the gains with the workers,
while the other suggested that employees compensation should depend on
the earning capacity of the company and should give them a reasonable

standard of living.

Identify and explain the principles of Fayol and Taylor referred to in the
above para.

itr=ier va srtv=Tes Jreq # ffafaa s w smaiie fifo -

(i) =19

() 3™
(iii)  Tfe=pR
(iv) =Hdgi

(v)  ETUY9 Rl Y418
(vi) Wl

aaeran
U T # Faskieor’ & waw # Tl 9n famgat f gaar & T |
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Differentiate between formal and informal organization on the basis of
the following :

(1) Meaning

(1) Origin

(11)  Authority

(iv)  Behaviour

(vl Flow of communication

(vi) ~ Nature
OR

With the help of any four points, explain the mportance of
‘Decentralization’ in an organization.

frars va = = weg snudl greey i wEEET |
FAera
= 6 uferan & fafis =on =5t gwemsu |

Explain the relationship between planning and controlling.

OR

Explain the various steps in the process of controlling.

FHEAITEA ISt hl ATITARATHAT I TATGT A Tt aedl o &9 H =faiad i
EHTIFTIEET%‘IQ:

(i)  =HEEE i gFfd

(ii)  HEE T

(iii)  HrgHl g2

(1v) 3IcdIEd =sh

HYTT

Yol T=AT % 939 Wl g9Ifad i 9Tl 9ol o &9 0 Aefatad i =men
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(i) kg warg feafd

(i)  @Har =l @nTa

(iii) W& @

(iv) SRR 9TAR =i gme

Page 9

9 P.T.O.

Click for Answer Key: http://www.respaper.com/cbse12/413/1268.pdf



66/1

Page 10

Explain the following as factors affecting the requirements of working
capital :

(1) Nature of business
(11)  Seale of operations
(1m) Seasonal factors

(iv)  Production cycle

OR

Explain the following as factors affecting the choice of capital structure :
(1) Cash flow position

(ii)  Cost of equity

(1i1)  Floatation costs

(v}  Stock-market conditions

fa <& fefeifiga @l i sawEn Fife 6
(i) 3edarg =1 w9 (feomed) wa famm
(i) SHTYTRTT U Hofiehtor
(iii) 7T HETH1 Hard
(iv)  3earel =1 gea-fakm
AU

“ift fagmas aegati va ganedi % wadq * fore umn: ereafus swEm | w9 e
I meEt § ¥ U 2, i a7 aga-dft snaremet it st s 2 ) v
foFg] =T TTAr=ATST il TR |
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Explain the following functions of marketing :
(1) Produet designing and development

(11) Standardization and Grading

(1)  Customer Support Services

(iv)  Prieing of products

OR

“Though advertising i1s one of the most frequently used media of
promotion of goods and services, yet it attracts lot of objections.” Explain
any four such objections.
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